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VITEEE Chemistry 2012

1. Among the elements Ca, Mg, P and C], the order of increasing atomic radii is
(a) Mg<Ca<CI<P (b) Cl<P<Mg<Ca
(b) P<CL<Ca<Mg (d) Ca<Mg<P<Cl

2. The reaction,

2A(g)+B(g) = 3C(g)+D(g) is begun with the concentrations of A and B both at an initial value of
1.00 M. When equilibrium is reached, the concentration of D is measured and found to be 0.25 M. The value
for the equilibrium conatant for this reaction is given by the expression

(a) [(0.75)3(0.25)]/ [ (1.00)2 (0.75)]
(b) [(0.75)3(0.25)]/ [ (0.50)2 (0.75)]
() [(0.75)3 (0.25)] /[ (0.50)2 (0.25) ]
(d) [(0.75)3 (0.25)] /[ (0.75)2 (0.25) ]

3. Which of the following expressions correctly represent the equivalent conductance at infinite dilution of

Al>(SO4)3? Given that L ,3+" and L g 2- " are the equivalent conductances at infinite dilution of the respective

ions?
(@) 2boqgas” + 3L _ 2
(b) B+ LP ="

(©) (Ayas®*Ba,, - ")x6

(d) ;A" A

AL
2 Sy

4. The pressure exerted by 6.0g of methane gas in a 0.03 m3 vessel at 129°C is (Atomic masses: C=12.01,H =
1.01 and R = 8.314 JK-1 mol1)

(a) 215216 Pa (b) 13409 Pa
(c) 41648Pa (d) 31684 Pa

5. Match List I (Equations) with List II (Types of process) and select the correct option.

ListI (Equations) List II (Types of process)
A. Kp>Q 1. Non-spontaneous
B. AGe = RTInQ 2. Equilibrium
C. K, =@ 3. Spontaneous and
D. | r-P2 4. | endothermic
ot Spontaneous
A B CD
@ 1 2 3 4
M 3 4 21
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() 4

1 2 3
d 2 1 4 3

6. Among the following which one has the highest cation of anion size ratio?
(a) CsI (b) CsF
(c) LiF (d) NaF

7. Which of the following species is not electrophilic in nature?

(@ @ (b) BHs
Cl

(c @ (d @
H30 NOZ

8. Match ListI (Substances) with List I (Processes employed in the manufacture of the substances) and
select the correct option.

List I (Substances) List II (Processes)
A Sulphuric acid 1. Haber’s process
B. Steel 2. Bessemer’s process
a8 Sodium hydroxide 3. Leblanc process
D. Ammonia 4. Contact process
Codes
A"B C D
@1 4 2 3
M1 2 3 4
() 4 3 2 1
d 4 2 3 1
9. When glycerol is treated with excess of HI, it produces
(a) 2-iodopropane (b) allyliodide
(c) propene (d) glycerol triiodide

10. Some statements about heavy water are given below.
(i) Heavy water is used as moderator in nuclear reactors
(ii) Heavy water is more associated than ordinary water
(iii) Heavy water is more effective solvent than ordinary water
Which o-f the above statements are correct?

(a) ()and(i) (b) (i) (i) and (iii)
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(¢) (ii)and (i) (d) (i)and (iii)

11. Which of the following compounds will be most readily dyhydrated?

ﬁ 0 OH
) W (©) M
HsC HsC
OH
o OH
HaC HaC I
(b) OH

(o]

12. Which one of the following complexes is not expected to exhibit isomerism?
(@) [(Ni(NHs)s (H20)2]?*
(b) [Pt(NHz)2Cl;]
(c) [Ni(NH3)2Cl:]
(d) [Ni(en)z]*

13. Which of thke following conformers for ethylene glycol is most stable?
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(d)

14. The IUPAC name of the compound CH3CH = CHC = CH is
(a) pent-4-yn-2-ene
(b) pent-3-en-1-yne
(c) pent-2-en-4-yne
(d) pent-1-yn-3-ene
15. Which of the following oxidation states is the most common among the lanthanoids?
@4 M2 (5 (d 3

16. Some of the properties of the two species, NO3- and H30+ are described below. Which one of them is
correct?

(a) Dissimilar in hybridsation for the central atom with different structures
(b) Isostructural with same hybridization for the central atom
(c) Isostructural with same hybridization for the central atom
(d) Similar in hybridization for the central atom with different structures
17. Following compound are given
(i) CHsCH20H
(ii) CHsCOCHs3

(iii) CH; -CHOH

|
CHs

(iv) CHsOH
Which of the above compound (s) on being warmed with indine solution and NaOH, will give iodoform?
(@) (), (1) and (iV) (b) Only (ii)
(c) (1), (ii) and (iii) (d) (i) and (ii)
18. Fructose reduces Tollen’s reagent due to

(a) asymmetric carbons
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(ii) primary alcoholic group
(iii) secondary alcoholic group
(iv) enolisation of fructose followed by conversion to aldehyde by base

19. In the followine reaction,
(i) Mg, Ether

CeHsC'>—™ X,
(ii) Hs0
The product X' is

(a) CsHsCHzOCHzCsHs
(b) CeHsCH,OH

(C) CsHsCHg

(d) CeHsCH2 CH3 CeHs

20. Which of the following is not a fat soluble vitamin?
(a) Vitamin - B complex
(b) Vitamin-D
(c) Vitamin-E
(d) Vitamin - A
21. Which of the statements about ‘Denaturation’ given below are correct?
(i) Denaturation of proteins cause loss of secondary and tertiary structures of the protein
(ii) Denaturation ‘eads to the conversion of double stand of DNA into signal stand.

(iii) Denaturation affects primary structure which gets destroyed.

(a) (ii) and (iii)
(b) (i) and (iii)

(c) (i) and (ii)

(d) (i),(ii) and (iii)

22. Which of the maximum number of molecules among the following?
(a) 44gC02; (b) 48gO0s
(c) 8gH: (d) 64gSO0;

23. Which of the following compounds undergoes nucleophilic substitution reaction most easily

Cl
(@) @ b)

Cl
A o~
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NO,
CHs

cl

(©) (d)

24. A 0.1bmolal aqueous solution of a week acid is 30% ionized. If K¢ for water is 1.86° C/m, the freezing
point of the solution will be

(a) -0.18°C (b) -0.54°C
(c) -0.365C (d) -0.24°C
25. Which of the following carbonyls will have the strongest C - O bond?
(a) Mn (CO)*s
(b) Cr(CO)s
(c) V(COJs
(d) Fe(CO)s

26. The order of reactivity of phenyl magnesium (PhMgBr) with the following Compounds

C HsC Ph
NS N N

C = 0 C = 0 And C = 0
W@ s 7 () NI e

0 [>111>11 '“'I; “>II>111 i
27. Asolid compound XY has NaCL structure. If the radius ot the cation is 100 pm, the radius of the amion (Y-
) will be
(@) 275.1 pm (b) 322.5pm
[} 241.5pm (d) 165.7 pm
28. Consider the following processes AH (Kj/mol)

24— B+150

2.

3B 2C+D-125
2D +350

E+A
B+D E + 2C, AH will be

(@) 525K]J/mol (b) -175K]/mol
() -325K]/mol  (d) 325K]J/mol


www.jbigdeal.com
www.JbigDeaL.com
www.jbigdeal.com
www.jbigdeal.com
www.jbigdeal.com

Download from JbigDeal

29. Match the compounds given in list [ with List II and select the suitable option using the codes given
below.

Codes
A B C D
@ 4 1 3 2
List1 List II
A. Benzaldehyde 1. Phenolphthalein
B. Phthalic anhydride 2. Benzoin condensation
C. Phenyl benzoate 3. 0il of wintergreen
D. Methyl; salicylate 4. Fries rearrengement
(b) 4 2 3 1
(c) 2 3 4 1
(d) 2o e 4 o8

30. Which of the following compounds is the most basic?
@ CH,NH,
ON — NH,

O o 0O

(©)

31. Which of the following structures in the most preferred and hence of lower energy for SO3 and hence of
lowest energy for SO3?

(@ _ (b) _ () _ @
0] S (¢ (¢
I 7 AN I I

S o] o] S S

/\ VAN 7'\

0] 0] 0] 0] O] 0| 0|
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32. What is the value of electron gain enthalpy of Na* if I[E; of Na = 5.1 eV?
(@) -5.1eV (b) -10.2eV
(c) +2.55eV (d) +10.2eV
33. The unit of rate constant for a zero order reaction is
(@) mol L1s1 (b) Lmol1st
(c) L2mol2s+? (d) st

34. A bubble of air is underwater at temperature 159C and the pressure 1.5 bar. If the mbubble rises to the
surface where the temperature is 25°C and the pressure is 1.0 bar, What will happen to the volume of the
bubble?

(a) Volume will become greater by a factor of 1.6
(b) Volume will become greater by a factor of 1.1
(c) Volume will become smaller by a factor of 0.70
(d) Volume will become greater by a factor of 2.9

35. Match List I with List Il for theh compositions of substances and select the correct answer using the codes
given below the lists.

ListI (Substances) List II (Composition)
A. Plaster of Paris 1. CaS04.2H20
B. Epsomite 2. CaS0;. _; H,0
C. Kieserite 3.
MgS04. 7 H20
D. Gypsum 4, Hng * :
> CaS0s
Codes
A B C D
@ 3 4 1 2
(b) 2 3 41
(c) 1 2 35
(d) 4 3 21

36. The pairs of species of oxygen and their magnetic behaviours are noted below. Which of the following
present the correct description?

(@) 0,02, - Both diamagnetic

(b) 0%, 0%; - Both paramagnetic
(c) 0%z, 02 - Both paramagnetic
(d) 0O, 0%;_Both paramagnetic
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37. Consider the reactjin»<

C,HsOH C,HsO
(i) (CHs):CH -€HzBr—> (ii) (CHs).CH —CHzBr—>
(CH3)2CH - CH,0C,Hs + HBr (CH3)2CH - CH,0C,Hs + Br-

The mechanisms of reactions (i) and (ii) are respectively

(@) SvlandSn2
(b) SN 1 and SN 1
() Sw2and Sy 2
(d) SN 2 and SN 1

38. Which of the following complex compounds will exhibit highest paramagnetic behavior?
(At.No. Ti=22,Cr=24,Co=27,Zn = 30)

(@) [Ti(NHs)e]*
(b) [Cr(NHs)e]*
(c) [Co(NHs)e]*
(d) [Zn(NHs)e]**

39. Which of the following oxide is amphoteric?
(a) SnO:
(b) CaO
(c) SiO;
(d) co:

40. The following reactions take place in the blast furanace in the preparation of impure iron. Identify the
reaction pertaining to the formation of the slag.

(a) Fe203(s) +3CO(g) — 2Fe(])
(b) CaCO03(s) = CaO(s) + CO2(g)
(c) CaO(s) + SiOz(s) — CaSiOs(s)

(d) 2C(s) + 02(g) - 2CO(g)
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